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COMMERCE
( Regular Elective )

Answer the Questions from any one Option. '

OPTION-A

: .(Fundamenta_l of Financial Management)

Paper : COM—RE-5056
OPTION-B
- (Indirect Tax Laws)
_Paper : COM-RE-5066

Full Marks : 80
" Time : Three hours -

The figures in the margin indicate
. full marks for the questions.

Answer either in English or in Assamese.
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1. Answer the’ followmg as directed: = @

(any ten) 1x10=10 -

| | WTWWW (Frereat 72

(@) Shareholders wealth in a ﬁrm is
represented by :

ﬁﬁﬂﬁﬁwwwwmms

() the number of p_eople emPIOYCd in
 afirm

- fode frfrs e et
(@) the book value of the firm’s assets

AR i s o1

(lil) the amount Of sa]ary pald tO its ‘

employees
/R T e vt sz AR

ft.he market price per share of a
m’s common ‘sock . '

(iv)

mm@ﬁﬁs&%w«a@?‘@

(Choose the correct alternative)

. (@ﬁﬁa@zﬁaﬁ@ﬁ\‘??f)

4 (Sem-SICBCS] COM RE 5/RE b/G .

® (b) NPV stands for :

(c
. I AMCEOY (TS TG© 8

NPV @@ IHiF 8
(i) - net profitability value

AP TS AeT
(ii) net present value
S T T

.(ifi) net purchase value -

. (iv) .None of the above

@9 OIS A .

~ (Choose the correct alternative)

(% [Rescor A Sfvean)

Capital budgeting deals with :

(i) cash management -

9w AfBiEmt

(i) management of work1ng cap1tal
L] o AR
(iii) managlng ﬁxed assets
(iv) None of the above.
@I OIS T
(Choose the correct alternative)

(9% Resichr a5 ey
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(d) Cost of preference share is: ¢
 iReIRTe i o I g
(i) . treated for tax
@ R ==
(i) not treated for tax
IR IR Kot 31 727
. (i) oniy'occasioqally treated for tax
- fSHRIE 3 i Rl = =
" (iv) None of the above
"89T ¢Ble Ty
(Choose the correct alternative)
(o7 Reest 16 Ba797)

(e) Internal rate of return is the discount
rate, at which

mﬁmmmmmw
() NPVs>gQ

@ NPV < g
(W) NPV - 0
() None of the above

SR Bis =y

(Choose the correct alternative )'

(%% s a5 &S

4 (Sem-5/CBCS) COM RE 5/R¢ 6/

® (N Dividend yield is computed as:

‘.'cﬂ@‘\“‘i%?lfeﬁﬁm@ CPIACE! Tl Befa <
W

(i) dividend per share divided by the
market price per share

S eﬂ%a—ﬂ\*ﬁs o dfS I@e v
fmﬁ@@ﬂ

(i) dividend per share divided by face
~value per share -

i 2ifS et Sl S SifFe JER
* (face.value) @l Rerew

(i) total profit divided by EPS
P #Aes EPS 3919 Ko

(iv) total profit divided by number of
. shares outstanding

P AT wﬁm@n @A) SN
- RYW T Rt _' '

(Choose the correct alternative )

(o= Remoo A Bfaean)
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(9) Capltallsauon of proﬁt process | Q i The overall. cost of capital is also
. involves issuing - known as: -
| W‘F@Wwﬁw——ﬁﬁaﬁﬁwwl 4mcfs;mawwm«ﬂ%tﬂm§‘m
() bond dividend " : '
' ' i) marginal cost of capital
A () ~margina ‘ cap '
(@) . cash dividend TR A I
T i (i) variable cost of capital
(i) stock dividend | o ‘
B3 wepiee | TG ARSI T
.(iv) - pro
Property dividend iij) weighted cost of capital
IS wregics) _ .
(Choose the. correct alternative) SE'-'W SRYE T
' (wﬁaﬁzﬁ*/wﬁ@ﬁ\?ﬂ) ) speci o1
(h) Stable leldend means : (iv) specific cost of cap.ltalv
*l'ﬁ{a TN M e W&FH GG ?U?I
(i) ;:stant leldend per share (Choose the correct alternative)
&
) conspuny 0TI (o sl qIf5 Bfred)
?‘ﬂ;lstant dividend payout ratio '
(i) B\g RN 2 SIS () When is greater than zero, the
_ oth (i) angq (i) . project be accepted _ : i
o) 1(\11)% (i) wraiE - ‘(Pill in the blank)
one
Le espg :;@the above cﬂFﬂT — LT @t@a T, AFHOIT 4
. (Choos sRR @Al (6 T 9§ )
' € the correct giternative ) ‘
(%7 Kot a5 Bfesd) . ‘
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(k)

iV
(m)

)

4 (Sem=5/CBCS) CoM R 5/RE 6/G

o
According to tradltlonal approach. cost
of capltal is affected by _____

. (Fill in the blank)
SRI>IPrS NS PR e 7 —— I
o Feie ) (T Fiay 279 F)
Retained earmng donot involve any
(Fill in the blank)

aﬁ - e S T |

| (40T 7T 939 )
Investment dec131on is a part of
decision. (Fill in the plank)

Rt g — S @ g |

(T g 779 )

A ,
ﬁnance Manager is accountable fOI’

Tﬁ@“”ﬁmﬁs&amﬁmﬂl

Company

i) Cff“' "M T ooty Botre
| ective management of a fund
(iii) an.j an[' agfm‘a‘ii '?ft Aot
Tesourceg | 0 inancial

@ proper i T
proper UtllizatiOn .
- of fund
A

(Choose the coﬁect alternative)
(% Remisy aifs Bfered)

°aming capita] assets of the

(o) Write whether the following statements

are true or false.
were il Rwin v @ oom %rvn

(i) The proﬁtablhty index or benefit-
‘cost ratio is the relation between
the present value of future net
cash flow and' the initial cash

~ outlay. _
ST ARG 2O Tl 479 2L W
RS o RifcamR TR ga @ e
T e (PLeiR) 3t a3 wavn"
- (Rfo=m)

(i) The net working capltal is the

excess of current .assets over
current liabilities.

25 3l T SfeTe T T st oA
eui i plere offe ofRmmd ) -
(i) When the company pay- dividend

in the form of bond, it is called
property dividend.

mﬂvmﬂmmﬁnww—a—nﬁ

facx, cofon o T~ife Ao (e |
(iv) When profitability index exceeds |

one, the proposal is rejected.

@fSA profitability index 3=

| @9TS =, (OfoA oFH AT I W'

4 (Sem-5/CBCS| COM RE S/RE6/G -~ O ' Contd.



2.

| {e) What is pay-

’ )

Answer any five of .the followmg questions

in about 50 words each - 2x5=10
| wﬁm%mmm @I I
foose Ter forar o
(@) State the advi i
. dviso functions of
. financial managemelr?; '
R sifrere SR PR S
(b) State the meaning of EPS.
EPS 3 9% gy o
(c) How i -
compift ea(;rerage collection period

T @Fﬁ?ﬁ Nl I 2 2
(d) What is the me

return ? - aning of internal rate of

° qw IR 9 /e

back period ?

REG AR ey sy

) What- is stock dividend ?

B woNe e
() State the objectives of wealth
- maximisation.
Soofsy TR ST B 4 |

() What is trading on equity ?.

AR G 152

() What is receivables management ?

enmorﬁsmﬁ?

Answer any four questions of the

~ following in about 150 words each :

5x4=20
wﬁzmmﬁﬁmmwwmsom g

ft-sq‘%@ﬂﬁt"

(a) Why wealth maximisation is more
- viable goal of finance function ? .
Explain.

WWW@@?WWW@W
) 2 A A
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)
{c)
(@

(e

4 (Sem-5/CBCS) COM RE 5/RE 6/

: State the
N warrants issye

Explain -the factors determining th

- capital structure. -

e NS P otz Tt 901

Mention the diffefent,types of financial.

.de§1§1ons and  examine their mutual
relationship,

RiSH 2 R Pratace T a1 I
ROV A 7 o =11

State the m

th anner of computation of

© cost of equity and debt capital.

T CFD) e 9 e g A

WW?&“

Distingw; .
arliséungulsll- between financial leverage
| Operating leverage,

o By T oo

Circumstances which
of bonus shares.

® R R ‘
Q10
R 2 S o ey e

12

@ (g9 What are -thq» adverse effects - of

excessive working capital in a firm?

| afodi e e PR e e

4 (Sem-5/CBCS) COM RE 5/RE 6/G 13

- oron R

Gahesh Ltd. expects its cost of goods
sold - for the year 2017-18 to be
Rs. 500 lakhs. The expected operating
cycle is 90 days. It wants to keep a
minimum cash balance of Rs. 1.5
lakhs. What is the expected working
ca:pital requirement ? Assume a year
consists of 360 days.

e BRCTGR 2017-18 I N R
ol ¥ I TA Rs. 500 FR| TR

. Golica: 5% €@ 90 M| Rs. 1.5 @Y T

des AR Rew wRR W
R T2 A 26T <t I 360 |

Contd.



Answer any four of the following qi.lestiogg

in about 600 Words each : . 10%x4=40
R R ST i eeRe o wooBt W
@ Discuss the scope and objectives of

®)

(IRR). -

, ﬁnan;:ial management.
- T8 Ao o{Ror e S aefat 41

7€ 2 critical analysis of net present

value :
alue (NPV) ys, internal rate of return

I ,
nternal rate of return (IRR) 9N net
Present valye (NPV) 3 oo 49

Wmﬁmﬁﬂm|

Discuss t
bUdgetingl:le modern method of capital

T A s oty e 901

(@)

4 {Sem - 5/CBCS) COM RE 5/RE 6/G

and discuss the factors

14

I'm’s  dividend and

i~

(e) Discuss any two theories of capital
structure. - .

R ARG R B O I L

() What is inventory management ?-
Explain- = the various tools .and
techniques used for inventory
management. - -2+8=1Q

. TS IR e TS IRFAIG IR
1 Rifen =iz IR GEPRE TR 741
(g) Discuss the forecasting techniqﬁes of
working capital requirement of a
firm. = - _
sl SHifSAE ded T e
. SiTelee I '
v(h) Elaborate the Modigliani and Miller
- hypothesis of dividend decisions.
Examine its validity. '
e Re9 Faies (%@ Modigliani
o Miller 4IRR RICT Sg=iv=l 11 3319
| qred ATl Reswe 4t c
(i) What do you understand by cash
management ? How can it be

undertaken ? 2+8=10
ot R T 6 e e 2 R
ST PN | '
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: -
() A company is considering to purchase G

one of the following two computers, the

details of which are given below.:

',@ﬂ"ﬁ@ﬁ@i?ﬁ’m«m@ﬁwqﬁg |

TSR RET s 21 afoiebre o

"~ Year Cash inflow (in.Rs)  |Discount factor @10%|
' Computer.A | Computer B ' .
st 20000 [ 22,000 0909
d | 24000 | 40,000 0.826
3d | 26,000 8000 | o751
4th 18,000 20,000 0.683
5th 12000 | 19000 - 0.621

B are Rs, 55,000

Cost of the computer A
each.
A SR ¥ Byt SRR
T ?4 Rs. 55,000 '
' Calculate pe
suggest  which

and computer

pfeSent value and
one should be

~ OPTION-B
(Indirect Tax Laws)
Paper : COM-RE-5066 -

: tibns és directed:
Answer any'ten queg ns e o

ﬁmwﬁﬁmm bt e Te forll 3.

. . . o .

o GSTIPJ is a | d]g]t a]ph ant .

() umber (I;i'll in' ' t he‘ blank wtth
n . R

appropriate word/words) . |

. = &3 —— I IR 771
IN i &l —— W ‘

= '(@'ﬂﬂ@,wwﬁéﬁmwp

‘ -effect of tax. (Fill in
17 oVES, (S
o C;: b;f:zr:k with appropriate word/words)

—— R |
o (&R 1T W AT o3 7)

e burden of GST is borne by State
’g:;ernmeﬁt‘. (State whether .the

statement is true or false)

GST=3 @G ST HIPI I I |
’ (Sl v% 7 o5 TETd )

(iii)

4 (Sem-5/CBCS) COM RE 5/RE 6/G 17



L

| (iv) Customs duty is a form of tax. ®

(Fill in the blank with appropriate

. word/words)
o &% TA GF @R — |
 (Toye =R A 5F s 140) |

(v) - GST was introduced in India with effect

from 1% April, 2017. (State whether
the statement is true or.false) .

©IRSIFS GST 2017 51 5ifZeq e oif¥a
IR Ao I T ‘

(Sfetr @?mww Gy 7)

(Vi) GST is a based tax. (Fill in the
. blank with appropriate word/words)
GST & @bt — Pfw w1 .
| (G =1 A 3R o z)
(viij Customs duty is levied by State

Government. (State whether the
statement is true or false)

S % A SR T A W
(Cfets! om @ wog e 7 91)|

4 (Sem-5/CBCS) COM RE 5/RE 6/G 18 -

is the first country to implement.
(v GST in the year 1954. (Fill in the blank
'  with appropriate word/words)
—— Carm AN (7 T 1954 5T© GST

aqﬁqq;ﬁ@ﬂ[(@'ﬂﬁ@%ﬂﬁﬁﬁ@)

{ix). The alphabet T in IGST indicates _.

(Fill in the blank with appropriate

word/ words) | -
[GST-R Wiwe & T B —— PR
- (BT Ard A 2 979 )

' GéT is a regressive tax system. (State
(x) whether the statement is true or false)

GST Z& <ol ZPdt 3= I |
R (BT o% 7 T e I9)

: i-poi State
. T is a multi-point tax system. (
(xz_) S,?Lether the statement is true or false)

GST-a bl FETIW I I
(Bfetr vm 7 wwE TE )

A.( xii) Assam VAT Act, 2003 came into effect

from 1 day of April, 2005. (State
whether'the statement is true or false)

‘o VAT @13, 2003 ifEen @ﬁ!ﬁ, 2005

SfR4a o PR T |
' (Bfh o7 @ 9% G 39)
4 (Sem-5/CBCS) COM RE 5/RE 6/G 19 Contd.




(xuz) VAT is a. ‘type of___tax. (Flll in the
blank with appropriate word/ words)

VATi‘amswa—ml .
(@‘Www%éﬁqur)

(xiv) Central excise duty is levied and
collected by___ . (Fill in the blank with
'appropriate word/words)

FER SR W —— J g @ R
ﬂ&ﬁi?ﬁtiﬂl(@w@mmﬁ%wwﬂ

(xv) Under the ‘Customs Act 1962,
‘prohibited goods’ cannét be exported.

(State whether the statement is true or false) :

Tl o iE, 1962—3@%‘%3@ Taft |

R ol o W)
(E‘WWWWWWW)

(xvi) The liability to pay central excise duty

vests on the of the goods. (Fill in
- the blank with apy appropriate word/words)

FE R ow Sy Tae ke w9
—— 8IS WIS T Z®|
| (C& 3 e 12 o7 7 )

4(Sm-5/CBCS) COMRESRE 6/ 20

..

.y , ] ) . — l

®

4 (Sem-5/CBCS) COM RE 5/RE 6/

n under the GST Act .is
(xvu) Reglﬁ;;igo . (Fill in the blank with

appropnate word/words).

GSTWWW”'@"“’“ fefee

 (Borge I AT IR A7 )

(xviii)A person registered under composition.

i dit.

annot claim input tax cre
scheme <:(State whether the statement
is true or false).

Composition scheme-? TS 9{@-—@ pr—

aj%? input tax credit W IRT FARIF |

 (Bfeebr oF (7 o B )
Ansi;ver( ény_ five questions : 24510
ezt lost e T Bt 2
li) What is indirect tax?
AT I e R ?Zﬂ‘?
(i) What is VAT ?
VAT W & =2
21 | Conld. -



. ® . ® jii) Mention any two benefits of dual GST.
~ (@) Briefly explain the meaning of ‘excisable a (vii). ‘ .

goods’. - %% GSTA W@qﬁﬂ%‘lﬂl
BRI SR T 9L SR Py » (x) Explain the meaning of input tax credit.
(iv) Explain the meaning of factory’ as per

’ e m o534
the provisions of the Central Excise Act, ' ‘ : , ~ -
1944, v . ‘

(T SRR S, 19447 41 57 GIRAFL-

: ' q?
o e , .GSqu%wmwﬁwmﬂmmﬁa
T 9 A /1) : _
' tions : Sx4=20
o " | 3 A er any four ques
(v) Mention any fwo objectives of levying v 3. Answ |
customs duty. ‘ - , - Teg Frl's
: ‘ Lt 75’@”3;” w i _: , -
ST & SN T AT 75 Sy el () Briefly explain any five advantages of
Ak | VAT. '
i ' e 4 RF I 34|
(vi) Explain the meaning of ‘Territorial . , VAT ﬁmﬁf ’7755731% AL o ,

Waters’ under the Customs Act, 1962 ?

, .) Write é short note on valuation of
(i

AN i3, 19623 Waiﬁ)‘, “Territorial excisable goods.

Waters3 S it 3| 2 mﬂ; T TS 8ATS <5l 5
' (vii) Explain the meaning of -GST_ ' _ - (oIl et
GST- 9 12t 3y |




(@) Explain the meaning of ‘Baggage’ as®

per the provisions of the Customs Act,

1962, '

T T %, 1962-3 4 WS ‘Gieser-T el

(iv) .

()

(vi)

.(vii)

[ AL :
Whgt is composition scheme in GST ?

GST= wHive cbmposition‘ scheme A
&=

Briefly explain th,eAconditionsv for A

claiming input tax credit under GST.

GST-= ST F1e{8 B Gepfes 7R T8 AR

VSR S B A1

Briefly explain the rate st '
oo 1 ructure of

GST= W So-2elish 5?1??? [T 4|

Write a note on the constituti
. uti
Council. ' . on of GST

GST=< ﬂ:ﬂ?ﬂ#@'vm <51 m et

4 5em-5/CBCS) COM RES/RE6/G 24

4. AhsWef any four questions:

4 (Sem-5/CBCS) COM RE S/ 6/

(viii) Write a note on the threshold limits for
registration under GST. ~
GST-% e AR A el T eoe
<51 B i

10x4=40

([ Writea note on the taxability of alcohol
and petroleum products -under VAT.
. VAT SRS T SR GRS TR
IO @7 o (Bre e
(i) Describe the history of indirect ta_xe‘s in
India.

o o ST 2R I = |

(iij) Explain the procedure of registration
7 under the Central Excise Act. - -

gt 3 |

25




. . ) .
(iv) Write a brief note on the history 01@

(v)

vy

(vii)

Central excise law in India.

L Tty S—
<ot 5 CBre el ‘

Briefly explain any five types of customs
duties. S

Rcreain %em« it %s%m JIg |-

Briefly explain the export procedure

under the Customs Act, 1962.

At éﬁ:@ﬁ 19627 wfFe W 1w
BT I | :

(a) Explain the concept of dual GST

Model. 5

@S GST Wi%S gl 1t 31|

(b) Write a note on the commodities

which are kept outside the scope
of GST. 5

GST-3 #1713 < e -
a5t (O R

4 (Sem-5/CBCS) COM RE 5/RE 6/G 26

@  (vii) Write a brief history on the introduction

(ix)

) -

" assessment under GST.

4 (Sem-slcacsp COM RE 5/RE 6/G

of goods and services tax in India.

oo T TR G T T P D1 5
Bfere o N

Explaih the advantages of registration

~under GST.

GST—QWWIWWW FRAPTR I 54 |

Briefly ‘explain the various- types ‘of

T e RivR e 7 e afFaam
S IR |
2600
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